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I Source for n”sw ninn
a (27 Dw2) RYT:v. 1 another “transfer” — via n”>w mnn
b (Mar 191 117 Dwa) ;M 7: v. 2 > another “gift” — via n”>w mnn
i y:didn’tusev. 1, as he accepts '27's nw1T > a girl’s property transfers through her husband/children
ii 1 didn’tuse v. 2, as onnn is the expected phrase
NP 92 RWIN N v. 3 —aY > a “will”
d  HRpr9m v 4 —ima YR e > a “will”
i Tangent: Aggadic excursus about Y91nR
1 ~r792 3 things he commanded his children (before taking his own life — v. 4):
(a) Avoid: disputes
(b) Do not: rebel against Davidic dynasty
(c) If: nawis a clear day, plant wheat (versions — perhaps “cloudy”, perhaps even if cloudy but north
wind is blowing the clouds around...)
2 Various: approaches to understanding the weather signs at 0" or end of mao
e 1" n"W mnn is 13277 - since he may lose ability to direct his estate at any moment, we allow n7’nR alone to be valid
i Challenge: since when did 1 take that approach?
ii  Explanation: 90w ruled that if someone sells a n"ow and then forgives the debt — 51n
1 Even: an heir can forgive
2 But: n">w mnn can not be forgiven
(a) Analysis: this indicates that n”s>w mnn is n”nn; else, why wouldn’t n>nn work?
(b) Answer: ‘tho 131277, they set it to be as per nn
I  Additional rule of n”>w ninn (1)
a  Ifa n”>w declares that he wants »19 to live in his house (after his death) or eat from his tree — meaningless
i unless: he says “give this house to ’a that he may live there”, “give this tree to ' that he may eat...”
1 inference: 31 only allows m11p that are valid for a healthy person to be valid (via words alone) for n”sw
ii ~ Challenge: 3" ruled that if a n”>w declares that a loan owed him by ’a should be given to ', it is valid
1 Even though: this is something that a 812 cannot execute
2 Answerl (9): since their heir inherits (the debt), and n”>w ninn is akin to a nw1Y
3 Answer2 (Np’K 277 772 8NN ™): it does exist for a X771 — as per nYWHY Thyn
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